Question Paper Title : TI_08

Date of Exam : 06-07-2019 02:30 PM
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Answer:

Reference 1D:(3946)

Answer:

Reference 1D:(4189)

Answer:

Reference 1D:(4163)

Choose the correct form of adjective for the given sentence:

Is it possible to make the room what it is right now with clothes
and toys strewn all over?

A.most messiest than
B.more messier than
C. lesser messier

D.messier than

D.messier than
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Choose the correct form of verb that is in agreement with the subject:

The pressure to transform our institutions of learning



Answer:

Reference 1D:(4197)

Answer:

Reference 1D:(4404)

Answer:

Reference 1D:(4165)

Answer:

A.continues
B.continue
C.are continuing

D.have continued

A.continues
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Choose appropriate tense for the given sentence:

Look! Jeny her lunch early today as she her mother out
later.

A.had has, will take
B.is having, plans to take
C.will have, will taken

D.have, would take

B.is having, plans to take



Reference 1D:(4157)

Answer:

Reference 1D:(3943)

Answer:

Reference 1D:(4430)

Answer:

Reference 1D:(4198)

Choose the correct form of modal auxiliary verb for the given sentence:

The student asked if he meet the Principal.

A.can
B.could
C.will

D.would

B.could

Choose the option that correctly spells the words to be filled in the given
sentence:

The enjoyed the humorous character that the
portrayed

A.spectaters , actor
B.spectaturs , acter
C.spectators , actor

D.spectetors , aktor

C.spectators , actor
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Answer:
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Reference 1D:(4173)
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Choose the correct word to complete the given sentence:

Being and celebrating the festival of Diwali was an
experience for me.

A.all together, all together
B.all together, altogether
C.altogether, altogether

D.altogether, all together

B.all together, altogether
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A.62
B.65
C.60

D.58

Answer: B.65
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Reference 1D:(4156) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

She never gets anything done because she has her finger in too many
pies.

A.honest and uncorrupt

B.highly influential

C.involved in too many things

D.lazy and sloppy

Answer: C.involved in too many things
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Answer: c.3mnfeq

Reference 1D:(3942) Choose the option that has all words spelt correctly:

A.equally , finally , realy
B.equaly , finally , really
C.equally , finally , really

D.equally , finaly , reall

Answer: C.equally , finally , really
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Answer:
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Answer:

Reference 1D:(4167)
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Choose appropriate articles for the given sentence:

| landed in capital city Lima, “ gastronomical capital of Americas’.

A.the, the
B.a, an
C.a, the

D.a, a

A.the, the
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Answer:

Reference 1D:(4168)

Answer:

Reference 1D:(4424)
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Choose appropriate conjunctions for the given sentence:

| like to eat cakes they are warm, you served it cold, late.

A.while, but, and
B.and, but, and
C.so, yet, because

D.so, since, but

A.while, but, and



Reference 1D:(4420)

Answer:

Reference 1D:(4411)

Answer:

Reference 1D:(3948)

Answer:

Reference 1D:(4436)

SR CLASS @1 BJXON 311 Hohdeee ddl od 3d d? RADIO & &3
b ddeg Hhal Sed?

A.PYAEJ
B.QYBEJ
C.QXAEJ

D.QYAEJ

D.QYAEJ

HITST AFTHTE i+ GasAed o ufget Hus Rt

(CRICTSd THd) & dat.

A.1853
B.1875
C.1882

D.1905

A.1853

Choose the correct form of the noun for the given sentence:

can be defined as an excess of body fat.

A.Obscenest
B.Obese
C.Obesity

D.Obedience

C.Obesity
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Reference 1D:(3947) Choose the correct form of adjective for the given sentence:

She has a good credit rating with other stores, so I'm sure she is

A.incredible
B.credible
C.creditworthy

D.creditor

Answer: C.creditworthy
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Reference ID:(4401)  HERIFHEIE = T fo Well &A1 Y 1R 2019 HL HIVIAT SIAdRUI
JUR (3fSX -17) A Yaul il 1812

A.200 Hicx HSdt

B.50 HieR flhesd

C.100 Hiex flhersd
D.100 Hiex dhid
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Reference ID:(4199) Y WHICIHd Aot e hhgdRt 2018 TH B¥H |1 =t IR
TTAUT HRUAT T,

Answer: D.ﬁﬁl@"‘f
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Reference 1D:(3945) Out of the following options, choose the sentence that is punctuated
correctly.

A.‘Have you made a wish?’ | ask the boy.
B.‘Have you made a wish? | ask the boy.
C.‘Have you made a wish! | ask the boy.’

D.‘Have you made a wish | ask the boy.’

Answer: A.‘Have you made a wish?’ | ask the boy.



Reference 1D:(4188)

Answer:

Reference 1D:(4176)

Answer:

Reference 1D:(4432)

Answer:

Reference 1D:(4158)
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Choose the appropriate preposition for the given sentence:

The man had been recuperating an accident which left him bedridden.

A.from
B.by

C.on



Answer:

Reference 1D:(4431)

Answer:

Reference 1D:(4164)

Answer:

Reference 1D:(4166)
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D.over

A.from
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Combine the following two sentences into a compound one.

Rakesh tried to hit the ball over the boundary. Ramesh caught the ball.

A.Rakesh tried to hit the ball over the boundary while Ramesh caught the
ball.

B.Rakesh tried to hit the ball over the boundary but Ramesh caught it.
C.On Rakesh hitting the ball over the boundary Ramesh caught it.

D.Rakesh hit the ball over the boundary. Ramesh caught the ball.

B.Rakesh tried to hit the ball over the boundary but Ramesh caught it.

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

We had a ringside view of the boxers because our seats were three rows
from the ring.

A.clear, uninterrupted view
B.a closer look at the stadium
C.a place very comfortable to obsequies the actions of the play

D.an area ringed around for special purposes

A.clear, uninterrupted view
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Choose the option with the appropriate suffix to complete the given
sentence:

The ant is an example of an industr creature.

A.-ised
B.-ial
C.-ious

D.-ialist

C.-ious
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B.HERTY
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Answer: B.II'E:WQ
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A.45
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D.55

Answer: C.54

Reference 1D:(4159) Choose the appropriate prepositional phrase for the given sentence:

They had to sell their big house huge losses, in their family
business.

A.owing to
B.owing for
C.owing by

D.owing on

Answer: A.owing to
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Answer:
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Reference 1D:(4425)
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Choose the most suitable conjunction to complete the given sentence.

Shorab is stronger than Rustum weaker than Anil.

A.but
B.as
C.because

D.so

A.but
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Select suitable determiner from the given options to complete the given
sentence:

If you have doubts about the plan, please speak up.

A.much
B.any
C.little

D.few

B.any

Uch] I hHd 25% o HH! HIUATA 3Tl 35, T I [hHcY oo
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Answer: 1
335 i

Reference ID:(4422) qIS e TReT FagH AtferesT gul &R
4, 23, 60, 121,

A.212
B.221
C.241

D.242

Answer: A.212

Reference ID:(4429) Ueh] aa! fhHd TRE! fHHdUE 50% SR draet Tell. SR draeiedn fdbddiar
10% e fael e, aR 3HTa1 dRdfded TR cdhd Rl 1 3d?
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Answer: B.35%
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B
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D.HRAM e AT

Answer: B.Trgq_cﬂ

Reference 1D:(3949) Choose the appropriate possessive nouns to complete the given sentence.

It is my birthday.




A.sister’s, Ann’s
B.Sister, Ann
C.sister’s, Ann

D.sister, Ann’s

Answer: D.sister, Ann’s

Reference 1D:(4179) “URT IGUr I7 JIEERMET 3 -

AT aTeul,
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YT REHR (2019) A THIT HRUATT AT
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B.ATHIRA
C.Ha-3HYg-fIuex

D. gTd UhU)

Answer: C.W-&F&HH-WQEQ
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Answer: C.T-N:TET
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Reference 1D:(3944) Choose the option that best punctuates the given sentence:

Mother said to father our daughter has won the gold medal in the running
race

A.Mother said to,” Father our daughter has won the gold medal in the
running race.

B.Mother said to Father, “Our daughter has won the gold medal in the
running race”.

C.Mother said to father “Our daughter, has won the gold medal in the
running race”.

D.Mother said, “To father our daughter has won the gold medal in the
running race”.

Answer: B.Mother said to Father, “Our daughter has won the gold medal in the
running race”.
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Answer:

Reference 1D:(4154)

Answer:

Reference 1D:(4426)

Answer:

Reference 1D:(4435)

Answer:

C.37qUd, TS, WU
D.3M1for, 3, Ramm

Addd, giidd, dRU

Choose the correct form of verb for the given sentence:

He his work within ten minutes.

A.completing
B.has completes
C.completed

D.is completes

C.completed

3HIT 6 AHHE TH S1d 313 dIR Hd, TR 979 dF HH 8 drgided Hdl.
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Reference 1D:(4151)

Answer:

Reference 1D:(4418)

Answer:

Reference 1D:(4438)

Answer:

Reference 1D:(4183)

Choose the option with the appropriate suffix to complete the given
sentence:

Tigers are danger animals and have been responsible for creating
many tumult situations in Indian villages.

A.-ed, -ing

B.-ing, -ly

C.-ous, -uous

D.-ingly, -ive

C.-ous, -uous
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Answer:

Reference 1D:(4153)

Answer:

Reference 1D:(4180)

Answer:

Reference 1D:(4434)
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Choose appropriate articles for the given sentence:

entire townis __ UNESCO World Heritage despite being leveled in
earthquake.

A.The, a, an
B.An, the, the
C.An, the, an

D.The, an, the

A.The, a, an
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A.45
B.140
C.110

D.70



Answer: D.70



